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Time Allowed: 20 Minutes '~ SECTION-A . . Marks:15
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The mid point of the se ment AB,
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Note: Time allowed for Section - B and Sectlon C is 2 Hours and 40 minutes.
Section - B ! 7 . Marks: 36
Q- Attempt any NINE parts Each part carries FOUR marks. A

-

Find the inverse of A= ( ]usmg adjoint method
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2. - Solvethe equations X + 2y = 1, 2x + 3y = gby using inversion method.
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4. Simpilfy by using logarithmy —22_ . -
5 Divide x* —6x+9byx 3 {x=* 3) '
6 Find the values of X2+ y ang xy, when X+y=8§, X- Y= 2
7. If x=2++3, find the values of x+; and X +~1—
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8 Factorize 4x + 81
)

Without parforming division find the value of a, when 2x -ax?- 2ax +3x+2is
exaclly divisible by x + 1

10.  Find the square root of 16x* — 24x° + 26x% = 12x + 4

11. Sum of three consecutive odd integers is 159. Find the numbers
: 1_2. Find the solution set of |15x - 7| - 4 = 4

Section - C - - ' Marks; 24
Note : Attampt any THREE questions. All questions' carry ‘aqual marks. : . ;

Q-lll Show that the points A(1,2), B(3,4), C(4,5) and D(2 3) are the vertices of a rectangle

Q-V  Prove that: The line segment joining the mid polnts of two sides of a triangle, is parallel to the thlrd side
" and is equal to one half of its length,

Q-V  Prove that: A line parallel to one side of a mangle mtersectlng the other two sldes divides them
proportionally.

Q-VI Constructa AKLM, when mKL 4.8cn, M= 5 2cm and MK = 4,5cm . Also draw their alllludes : -
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